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(1) R&EEx&FE->THOEPLELLD,

(2) xDfEH 150 DrE, 200 DEEDKREEINTINKDFILLD
6 X 150+ 50 =950 x DIEAS 150 DY % ( 950 H )
6 X 200 + 50 = 1250  «ofr2000rx (1250 )

2 <tyoBEE y=] | omTELILL,
(1) xgnAor 2 @% 120g DFEIANILED , 2EROETIR ygrlET,

(y= xx2+120 )

(2) | AOKRIN xecm DEFFD , A)VDOKRIZ ycme LET,

( y= x X 4 )
(3) ORI xm, BOEIH 8m 0, RABOENESE y i TT,
( y= 8 X x )

3 &Y 8cm, BN xem DZAFOEMEEL yoit LET, ROMBBEICZEAFLLD,

(1) =ZzAaFoEfE Yy 2 x 2F->THohHLILLI,

y=8Xx~+ 2
(y=4Xx)
(2) xDEH S DEE,y eRKDELLD,
y=8x5+2=20 ( 20 )
(3) y D1EH 32 DrE,x 2#KDHILL),
32 =8 Xx+-2=4 Xx ( S )

4 X x= 32



